CUIN 7333 Final Exam Review KEY

b. {(-5,4), (-4,5), (-3,1), (-1,-2),(1,6), (2, 1), (3, 6)}
c. domain: {-5, -4,-3,-1,1,2, 3}
d.range: {-2,1, 4,5, 6}

e. yes
f.{(4,-5),(5,-4),(1,-3),(-2,-1),(6,1),(1, 2), (6, 3)}
g. no
1. a. compress 3/5 2. a. compress 1/5 3.a. stretch 3
b. yes b. yes b. yes
C. hone C. none c. right 2
d. down 4 d. up3 d. down1
e.y=x ey=|x| ey=|x|
3 1
h. y=——x-4 h. y=——|x|+3 h. y=—3|x—2|—1
5 5
lLa 2.a. 3.a
b.y=x b. y=x? b. y= |x]|
C. (—oo’ oo) C. (_00700) C. (_oo’ oo)

(3x —1)(9%* +3x +1) b. (2x® —y°)(x® + 6y°)
(8x-7)(2x +3) d. (2x -15)(x +1)
(B3x-4)(x+7) f. 4x°(3x + 4)(2x + 3)

y(2x +1)(4x - 3y) h. (5x° + 4y)(5x® - 4y)
9(2x + 3y?)(2x - 3y?) . (x> —9)* = (x +3)*(x - 3)°

(3b+1)(2a-1)
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2 5
5 Xx=5-= b. x=4,= k=25
a 3 > c
6.
+
a m=2,3 b b=2_2\/E c x=19
. _-3+429 . LAV (2
‘ 2 ' 3 I 3
7.
b. f(x)=2x-x°
// \\
1 2 3 /V// \\
intercepts:(2,0),(3,0),(0,6) intercepts : (0,0),(2,0)
vertex : (g—%] vertex:(1,1)
8. C
9.
Relation: {(-4, 1), (-1, -2), (0, 2), (0, 4), (2, 3)}
Domain: {-4, -1, 0, 2}
< Range: {-2,1, 2, 3, 4}
. Function? NO
- Inverse: {(1, -4), (-2, -1), (2, 0), (4, 0), (3, 2)}
[~ Is the inverse a function? YES
10. a. y=5x+7 b.y= 2x-4
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11.
a b.

(6, =) a. Domain (-00, ) a. Domain
_ (-o4)u(4,~) __________b. Range _ {-2,3,(6,»)}_____b. Range

NO c. Function? NO c. Function?
12.

2 4 3 59 )

a. f(h°-3)=6h—h" -8 b. g g =% c. f(5 +h) - f(-3) = -16-10h-h

13. a1=1,a,=-1,a3=-3,a4,=-5

14. Identify which of the following are arithmetic sequences or geometric sequences and provide a rule.

o {8, 12, 16, 20, 24, ..} b. {1,2,4,8, ..}
arithmetic, a, = 4n+4 geometric, a, = (-2)"*
15. a. aipo = 44, Sp = 80 b. aipo = -512, S5 = 11
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